threaded fittings

3198 male stud branch tee BSPP and M5 thread

lasti mplete wi Z L
el | LI e F 6 M 3 gw
nickel-plated brass stud 4 M5 31980419 3,5 8 85 155 14 0,004

4 1/8 31980410 5 13 85 15 14 0,008
4 1/4 31980413 556 16 85 15 14 0,013
L L 6 M5 319806 19 3,5 8 105 16 16 0,006
1‘2—%’1 6 1/8 319806 10 5 13 105 17 16 0,010
_ ‘ 6 1/4 319806 13 56 16 10,5 17 16 0,015
4 f#,#iuﬂ 8 1/8 319808 10 5 13 135 245 23 0,017
H 7N 8 1/4 31980813 55 16 135 21,6 23 0,020
L L 8 3/8 319808 17 55 20 135 215 23 0,023
E 2G2Dl10 1/4 31981013 55 16 16 26 26,5 0,021
T OF 10 3/8 3198 10 17 556 20 16 24 26,5 0,024
C 10 1/2 3198 10 21 75 24 16 24 26,5 0,039
12 1/4 31981213 56 16 19 29 31 0,088
12 3/8 31981217 55 20 19 27 31 0,081
12 1/2 319812 21 7 24 19 27 31 0,092
the body is orientable for 14 3/8 3198 14 17 8 24 255 53 32,5 0,110
positioning purposes 14 1/2 319814 21 95 27 255 54 32,5 0,120
We recommend the use of an extra-flat spanner.

3193 male stud run tee BSPP and M5 thread

lastic body complete with E
i’:mtegral ‘O’X'ing sZaI, gD ¢ ‘ E F G H H1 L m
nickel-plated brass stud 4 M5 31930419 3,5 8 8,6 23,56 9 14,5 0,004

4 1/8 31930410 5 13 85 23 85 14,5 0,008

L 4 1/4 31930413 55 16 85 23 85 14,5 0,013

| 6 M5 31930619 35 8 105 27,56 10 17,5 0,007
(1] 6 1/8 31930610 5 13 10,5 27 10 17,5 0,010
6 1/4 31930613 55 16 105 27 10 17,56 0,015

! 8 1/8 31930810 5 13 135 375 16 23 0,017

| 8 1/4 31930813 55 16 135 345 12 23 0,020

Al 8 3/8 31930817 55 20 135 345 12 23 0,023

ﬂ : 10 1/4 31931013 55 16 16 42 155 26,5 0,021

3 I L L 10 3/8 31931017 55 20 16 405 14 26,5 0,023
E| ‘ ©G @D (110 1/2 31931021 755 24 16 405 14 265 0,039

‘ OF 12 1/4 31931213 55 16 19 48 17 31 0,087
C 12 3/8 31931217 55 20 19 46,5 155 31 0,088
12 1/2 31931221 7 24 19 46,5 155 31 0,091
the body is orientable for 14 3/8 31931417 8 24 255 74 40,5 33,5 0,110
positioning purposes 14 1/2 31931421 9,5 27 255 75 41,5 33,5 0,120
3131 male parallel and M5 threaded standpipe
nylon probe, Z
n?::kel-‘:ﬂated brass with ep ¢ @ £ F H H1 A_klg_A
sealing washer 4 M5 31310419 3,5 8 29 14 0,002
4 1/8 31310410 5 13 30 13,5 0,006
4 1/4 31310413 55 16 31 13,5 0,011
1 ] @D 6 1/8 313106 10 5 13 32 13,56 0,006
: 6 1/4 31310613 56 16 33 13,5 0,011
T 8 1/8 31310810 5 13 365 13,5 0,006
H o i ] 8 1/4 31310813 556 16 345 105 0,012
H1 oF 8 3/8 31310817 55 20 345 10,5 0,015
A 10 1/4 31311013 56 16 435 17,5 0,012
E € 10 3/8 31311017 56 20 415 155 0,015
10 1/2 31311021 75 24 415 155 0,026
12 3/8 31311217 56 20 42 12 0,052
12 1/2 31311221 7 24 435 12 0,056
14 1/2 31311421 95 27 49 14,5 0,049
The blue panel provides swift example: 6 1/4 31980613 LF 3000, 3 generation
identification of the items
presented in the catalogue. 14 3/8 3198 14 17 '.F 3000, 2" generation
Z
Glogris A11




